MHOXeHHS palioHAIbHUX YHCET

BapianT 1

1. (36.) OGuucnuru:
13- (-5) =
-12,4 - (-4) =
-36 - (-0,6) =

2. (46.) Po3kpuiite ny>XKH Ta CIIPOCTITH BUpa3 :
7@Ba-5b+c) =

5(6a—9)—8a=

3. (36.) OGUYHUCHITH 3pyYHUM CTIOCOOOM:

a) (-2) (-37) * (-5)=

6) (-25) « 106 » (-4) =

B)-025¢(-4)* (-5 *(-2) =

4. (2 6) Po3B’s1KITh pIBHSIHHS: (x + 3)(x - 4) =0.

Bapianr 2

1. (36.) Obuucnuru:
16-(-4) =
-12,3+(-3) =
-42 - (-0,7) =

2. (46.) Po3kpuiite n1y>XKH Ta CIIpOCTITh BUpa3:
5@x-3-9y)=

7 (11 -8a) - 12a=

3. (36.) OGuucHiTh 3py4HUM CIIOCOOOM:
a) (-2) (-64) + (-5)==

6) (-25)* 78« (-4) =

B) -1,25 ¢ (-20) * (-8) * (-5) =

4. (20). Po3B’soKiTh pIBHSHHS: (x + 7)(x —1) =0.



